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Section 1 - General Knowledge

1) Over enrichment of which nutrient is the principal 1) TEITHHT FT T FIXIT THT TS qcd I STTEFar

cause of Eutrophication? a?

A) Lead NEE

B) Zinc B) o=

C) Sulphur C) 9v%T
D) Phosphorus D) ®IEhHTH

2) Which of the following rivers is NOT a tributary of 2) Rt # & I= St dal Jat il HgTT% 7l A5l 87
Chambal?

A) Kali Sindh A) FTeAT e
B) Seonath B) |AAT FA=T
C) Banas C) aama

D) Parbati D) [Tt

3) Article 84 (b) of Constitution of India provides that 3) AT ST & T =7 84 (b) & YTALTT & HATIAF

the minimum age for becoming a candidate for Lok & IATd & o IFEaTe i ~FAqH AL 2T 22
Sabha election shall be

A) 22 years A) 22 T T
B) 25 years B) 25 a9 grft
C) 30 years C) 30 a9 grft
D) 28 years D) 28 a9 Rt
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4) Who among the following was elected as the 4) ferfea® & foheg 1946 § 9TLT & HTeT™ T TA°

president of the Constituent Assembly formed to < gq Td TIALTH TAT & Teqeq F ®TH fAatt=a GFar
frame the Constitution of India in the year 19467 q717?

A) Dr. B. R. Ambedkar A) TT. &1, AR, raEHT

B) 4 d TaTeY AT Ag®
C) Dr. Rajendra Prasad C) =T. ToIvg JHTS
D) Dr. Radhakrishnan

B) Pt. Jawaharlal Nehru

D) =T. TLTHFIH

5) Who among the following was re-elected as the 5) fFforfaa & & e ST« Fiwee & &7 § =1eff 9@

German Chancellor for the fourth time? NGIBENECRERIRIR IR
A) Tayyip Erdogan A) TR U=

B) Theresa May B) J¥HETH

C) Phillip Raymond C) fhferg e

D) Angela Merkel D) TSTET ATehel

6) Which of the following oxides of gases react with 6) fFrferfaa & & 41 =9 & siiwaTzs gF it o ¥,

volatile organic compounds in presence of sunlight eI Sifae FRrRT & a7 IFAFaT 2 & s avE
due to which bad ozone is formed? AT JaT BT 872

A) Oxides of nitrogen

A) TTZEISH & ATFATS S
B) Oxides of carbon

B) #FTa & HAFaT=SH

C) Oxides of phosphorus C) WIFhITH = AFaTssd

D) Oxides of sulphur D) T & ATFATZZH

7) Which one of the following peaks is the highest 7) F&forfad & & &9 € =Er If%#T =Te 98IE &

peak in the Western ghats? T SAT AT 572
A) Mullayanagiri A) Heea oI
B) Banasura B) sTomHX

C) Doddabetta C) SrgTagT

D) Anamudi D) sETHaT
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8) Article 200 of the Indian Constitution provides that 8) wTedt= @faem™ ¥ s=zg 200 F HAT(I® TT *
when a Bill passed by the State Legislature, is faraTaw=e gIaT T e TSTAT F THET T
presented to the Governor, the Governor shall ST 9% TSTATA Tg O FT o I

declare that he

(i) assents to the Bill (i) Freres iy e FAT 8

(i) withholds assent therefrom (ii) FST | TEHTT HI AFATS

(iiy reserves the Bill for the Prime Ministers (iii) SerTe #3T & fo=mrsf fardr=e it qferg w1 g
consideration

A) (i) and (ii) A) (i) i (i)
B) (i), (ii) and (iii) B) (i), (ii) i (iii)
C) (i) and (iii) C) (i) 37 (iii)
D) (i) and (i) D) (ii) =i (i)

9) In 2017, who among the following MLAs from 9) 3d% & H¥a< & g fAgmas = 2017 #, &M= +
Mumbai launched India's First Digital Bank .for/ @ \Tee o ugel FefSe 9 it qreema i ?
Sanitary pads?

A) Anandrao Patil A) s qrfee
B) Dr. Bharati Lavekar B) =¥. ATAT ATAFT
C) Dr. Harshvardhan Patil C) =f. guaed qrfeet
D) Vivek Pandit D) fea= ufea

10) Who was the first'and the only Indian Governor - 10) TG ATYT FT T&AT 3T THATT ATLA T TAAL SAALA

General of independent India? T AT?

A) Dr. Rajendra Prasad A) 2T o7 TETE
B) Dr. Radhakrishnan B) =T. TTFSH

C) Sarojini Naidu C) TS AT9g

D) C. Rajagopalachari D) =T. T =TT

Page 3 of 31



www.ErForum.Net Page 4

51947_18 BATCHO1_JUNIOR ENGINEER CIVIL_29JAN2019

Section 2 - Logical Reasoning

11) Select the option that will make the second pair 11) I fE&ed FT FFF Y ST TAL STST AT TgAT SIET

analogous to the first pair. F THEY AU

Harmandir Sahib: Amritsar:: Brinadishwara Temple: ? gwwfe aTfea : saa? : Jgea< /iaw: ?
A) Agra A) 3T

B) Bikaner B) #ft&rT

C) Udaipur C) 3T

D) Thanjavur B)SICES

12) Dolly introduced Rini as the wife of her father-in- 12) =tet 7 AT F1 aF=T 97 9 % ITHTE &l TAT %

law’s son-in-law. How Rini is related to Dolly? &7 | oz R STl % |1 797 Heer g2
A) Sister-in-law A) 993

B) Daughter B) T

C) Sister C) @z

D) Daughter-in-law D) &g

13) What is the missing term in the given series? 13) &I T2 §@aT § ST HEAT FT 572

The series is 8, 7, 56, ?, 21952 W% 8,7,56, ?, 21952
A) 142 A) 142
B) 112 B) 112
C) 392 C) 392
D) 384 D) 384

14) Costof 95 pencils is ¥ 285. The number of pencils 14) 95 UfEeT Fit Hitwa T 285 gl T 2580 H feha«t dfret

that can be bought for Z 2580 is G ST T 1 572
A) 860 A) 860
B) 680 B) 680
C) 480 C) 480
D) 950 D) 950
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15) How many 5 letter words are possible by 15) VIHAR ¢Tsg & 313} &l qaRod ®i<eh 5 A< 1ol

arranging the alphabets of the word VIHAR?
A) 320
B) 120
C) 100
D) 240

16) Three of the four words or numbers mentioned
below belong to the same category or class. Find the
odd one out.

A) Baseball
B) Chess
C) Football
D) Dance

17) Three among the four pairs belong to the same
group or class. The odd one out is.

A) MODE : EDOM
B) CAT: TAC

C) DOG : COD

D) ANT: TNA

18) If Sheena says, “ Manju's Mother is the only

T ersT 59T €7
A) 320
B) 120
C) 100
D) 240

16) == faw 7T AT oreat AT HEATA B & A1 UF S Fof
IqT 97 & g1 TAH & FHI AT bl rorU|

A) sEate
B) =¥
C) Feata
D)s™®

17) A St & & 9 U & 79 a7 99 7 geafig ) =
T FEIT R G782

A) MODE : EDOM

B) CAT: TAC

C) DOG : COD

D) ANT: TNA

18) 3T oNHT Fgd T &, "HY I ATAT HY T ASATHG

daughter of my father-in-law Rajsingh”, then how is Z&Tdt Tt ", T SIAT T HS[ & FAT Hafer 82

Sheena related to Manju?
A) Mother

B) Niece

C) Aunt

D) Daughter

A) HTaT
B) wfisiT
C) \THY
D) Tt
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19) What is the next term in the given series? 19) & ITE FFAT | IWTAT HEAT F47T 5?2

The series is 191, 183, 176, 170, ? %I@T'IT% 191, 183, 176, 170, ?

A) 173 A) 173

B) 170 B) 170

C) 160 C) 160

D) 165 D) 165

20) If 1/4th of the work is completed in 2 days, then 20) =g T & 1/4aT 907 2 &ATH @I 14T 8, AT
the work which is equivalent to 4 times the initial work ST #Td SIS 14 % 4 AT1.6 S4@< g, T8 Fd T 2l

will be completed in STOATT?

A) 16 days A) 16 feT &
B) 24 days B) 24 faa #
C) 64 days C) 64 e &
D) 32 days D) 32 feq &
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Section 3 - General English and Comprehension

21) Identify the Antonym for the word —
Vigilant

A) Tough
B) Trained
C) Heedless

D) Circumspect

22) Choose the meaning of the italicized idiom

used in the given sentence.
He has been chasing his tail by trying to sell the

product but he has not been able to meet his
target.

A) Spending less time and energy

B) Spending alot of ineffectual time and energy
C) Doing a lot of hard work

D) Thinking too much

23) Choose the correct word substitute for the
following sentence:

One who collects coins as a hobby.
A) Cryptologist

B) Numismatist

C) Hobbyist

D) Philatelist

24) Identify the synonym for the word —
Swerve

A) Strike
B) Veer
C) Swipe
D) Vain

25) Identify the part of the sentence that has an
error:

Today the class teacher was absent so the

children did not knows what to do.
A) did not knows what to do

B) so the children

C) was absent

D) Today the class teacher
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Section 4 - General Hindi

26) 3 & & 915 ATHFT I AT 872 29) fAeferferd & & i |7 'g2Et’ #7 gAiaEr as

A) ST T W ¥ o forEaTa R g?

B) redTHe | g0 o9 feramaT A) a1

C) 1A % g0 oe feraar| B) =<t

D) sreaTas 7 29 @ feramam C) qam

D) &t

27) FIg § {20 70 3719 F ST qT qGT ATRII<h I

=TI T T ST AT g o — 30) fArforfad & & 9o 915 T F3+ HIford?
AT T &7 919 T 8 3T 98 A1 8T § a9 A) 3T
FATAT AT B TET G v | B) tm
(@ F e s=e)
C) s
A) GTAT [T T T =57 .
D) =tz
B) 9T BT STHTS
C) 3T & 9% 3t @IaAT
D) 3@ o 3¢ 719 o9 99

28) ga#d, fos, #gd Fufciaa & ¥ es
TATIATHT &2

INERIGED
B) @
C) T=ha
D) sfi<T
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Section 5 - Basic knowledge of Computer

31) In MS Word 2016, which of the following key 31) MS @< 2016 #, a< dT€ Siagde # & & T
combinations is used to update linked information in ST FT T=ATAT (ATSE) FIA 6 o0 A5 i FHr=mT
a Word source document? (T FFTTAT) § F 7 A7 ITTRT 64T 17 872

A) CTRL + SHIFT +F8 A) CTRL + SHIFT +F8

B) CTRL+ SHIFT +F7
C) ALT + SHIFT + F8

B) CTRL+ SHIFT +F7

C) ALT + SHIFT + F8

D) ALT + SHIFT + F7 D) ALT + SHIFT + F7

32) Which of the following network is a network of 32) %1 & & FI9 AT ded#® UF SHS € I<h NHIE Felee
remote-controlled private computers with backdoors SS9 FHE¥T &l T & ST FHIE I hglel TH ZT
that are being controlled by a command and control RRIEERERUSISLEL

server?

A) BotNet A) dreAe

B) Remote Access B) fwe waw
C) Boot Sector C) 92 §%e<

D) Adware D) T=ZaIT

33) Which of the following file-extensions is used for 33) MS Ta& 2007 # o THH & 19 AT B U oM
MS Excel 20077

S AT STt 872
A) .accdb A) .accdb
B) .pptx B) .pptx
C) .docx C) .docx
D) .xlsx D) .xlsx
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34) Which one of the following email fields allows you 34) faferfea & & ag 19 =t 2-9< Hhiee § ST AT 3-
to send a copy of the email messageto another email ¥ §8 Y U FHIYT F7T -8 USH IT A T ATATT

address?

A) Signature
B) CC

C) From

D) Subject Line

AT E?

A) R

B) CC

C) %¥

D) HesFE AT

35) Which of the following are modem standards? 35) fAsferfera & & #iq & TS ATAF &7

) V.90
Il) V.91
Iy V.92
V) V.93

A) II'and Il
B) land Il
C) Ihand V
D) land |I

) V.90

) V.91

y v.92
V) V.93
A) 1l sl
B) &l
C) Il iz IV
D) I sz Ii

36) Which type of virus infects the boot record and 36) A% & & f3re TaTT & aTawH q2 NFIE T GHAT
spreads when the system is booted from the disk a1 & T AT Ik ek & e oz g u¥ %ef o1

containing the virus?

A) Boot Sector Virus

B) Scareware Virus

C) Memory Resident Virus

D) Boot Parasitic virus

e?
A) T HFT ATIH

B) =hIEdT a1aA
C) a8 IEe ameH
D) = TTfRrfes araa
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37) A collection of software that manages computer 37) HTFaa< % U €U T FAT Fgl ATAT § AT FHEX
hardware resources and provides common services ZTSaaT HETHAT T TTGT FLAT g AT HAET TRATH Fl
for computer programs is TATHTT FATU IUAS FITAT 2
A) Computer Hardware A) FET ZE AT
B) Operating System B) sifqxfe ey
C) RAM C) RAM
D) Hard Disk D) gTs o=

38) Which of the following printer prints by spraying 38) fArferfera & & i AT Riex &nrsr w2 e fiz ge &

minute droplets of ink from its print head on paper?
A) LED printer

B) Laser printer
C) Inkjet printer

D) Dot matrix printer

39) Which of the following protocols provides logical
address from physical address?

A) DHCP
B) BOOTP
C) ARP
D) RARP

40) Golf ball printer is another name for
A) Desk jet printer

B) Daisy wheel printer

C) Ink jet printer

D) Line printer
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41) Which of the following spamming techniques 41) JEHY/ZHATAT GTLT ITANT T ST ATAT Tl €T TATHT
used by an attacker allows to hide Spam Words by d& 1= 9Tsai & AT HTML 379 &7 9T ek TH 9Te

including invalid HTML tags within the words?
A) Poisoning Filters

B) Directory Harvesting

C) Social Engineering

D) Junk Tags

T AT it AATT AT R?
A) TrzsttHT fhee

B) STIYAHST gTeaee
SEIRREESIRRIES

D) Sf& &3&

42) Which of the following connectors are used with 42) fAarforfaa & & for Feee &1 aarefi= Faa & amr

coaxial cable?

[) BNC Connector
i) SMB Connector
[l TNC Connector

A) land Il
B) I only

C) Iland lil
D) I, Iland I

ERRIURER IS R
) BNC Fe#e
) SMB Fd#2%
) TNC FAaT

A) T3 I
B) Fa |

C) Il =iz I
D) I, Il & M

43) Which is an office suite.of desktop applications, 43) WTZHA e FiT fA==Tor T T % OS X sfrofeT
servers and services for. Microsoft's Windows and ffreesq F o0 Sewaiy aiftersnera, @ad i qaTei &l

Apple's OS X operating systems?
A) Adobe Reader

B) PageMaker
C) Google App Engine
D) Microsoft Office

AT ¥ ST | I |7 27
A) =TT e

B) USTHFT

C) T T o

D) HTShE % 37 o
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44) In MS Excel 2007, where can we find a combo 44) MS U&= 2007 ®, g0 F T ST hgh & TTH FT Teha

box?

A) View menu -> Tools -> Form Controls

B) View menu -> Developer -> Controls -> Form
Controls

C) Developer -> Controls -> Insert -> Form Controls

D) View menu -> Toolbars -> Forms

45) Which of the following devices converts digital
signals into a form that is intelligible to the user?

A) Input devices
B) Keyboard
C) Storage devices

D) Output devices

46) Mozilla Firefox, Google Chrome, Internet Explorer
are the examples of

A) Operating Systems
B) Web browsers
C) MS Office packages

D) ProgrammingLanguages

47) Which of the following storageis volatile in
nature?

&2

A) FLHT -> T -> T FZH

B) =1 AT -> ST -> FZoH -> Wi H g (o]
C) TAAIT -> FHZ[oH -> THC -> Wl H g[8
D) 1 i -> AT >

45) frforfaa ® & #ia |7 fRared Rfses e i wid
F T H TACQEA HAT &, ST STINTRAT & [T T
CARLEA

A) =9 fRamEw

B) #ieTe

C) = f2arsH

D) am3eye Az

46) FITAAT BIATHIFT, A I, TeTe TFART HH
| ¥ FoFaaT 321800 8?

A) sttt e

B) a9 ATSSIY

C) MS &R frrer

D) STRITHHIT Sverst

47) fwforfag @R & & i 97 AR T #7182

A) ROM A) ROM
B) Hard disk B) gTE fow=
C) Tape drive C)eq gr=a
D) RAM D) RAM
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48) Which part of an operating system provides 48) sia¥fe™ fRrees T I7 a7 IIT THHAT T ST RqT Feed

system calls to manage processes?

F foro e #ite &= #ear g?
A) Device Management A) fRarza #asHe
B) Process Management B) T&H HesHe
C) File Management C) HTEd AAstHe
D) Memory Management D) 9T §9H e
49) Dot Matrix Printer is a/an 49) =iz gfeF e v
A) Processing device A) THERT fRaTea g
B) Output device B) a3 e RaTsa &
C) Input device C) == Rarea g
D) Memory device D) #9Tt Rarza g

50) Which of the following features is includedin Font 50) MS 3% 2016 # Hie STIANT diad #§ {FHTele
dialog box of MS Word 20167?

i |1 QT arfee g2
A) Find A) FrEE
B) Strikethrough B) T=T=EYg
C) Align C) st
D) Replace D) fre

Page 14 of 31




www.ErForum.Net

Page 15
51947_18

BATCHO1_JUNIOR ENGINEER CIVIL_29JAN2019

Section 6 - Civil Engineering

51) Ajaris filled with a liquid up to the mark of 1 litre 51) T# SIT¥ & oRET a2 & 1 S T T 9T S[1aT
and weighed. The weight of the liquid is found to be & 3T a9 fFIT STAT g1 T FT o 5.5 N 9197 ATAT 2|

5.5 N. The specific gravity of the liquid will be e T fafore TEea (Tt AT FTeT FoRa=T 22

approximately

A) 0.56 A) 0.56
B) 0.26 B) 0.26
C) 0.66 C) 0.66
D) 0.34 D) 0.34

52) The stopping sight distance for traffic control on 52) TSI 9% ATqTaa Aa=or & forow w=ifiT amwee
highways depends on total reaction time of the driver. R=® $Tga< & Tt Sid AT 97T 9T 9T FdT 1 37
This time is best explained by "PIEV" theory. Here V &&= &t "PIEV" fRrgia g1 Aa 3= &9 & THATAT 747

stands for gl TRV FT o FAT g2
A) Volition time A) FTeTe 212w
B) Violation time B) AT 2T2H
C) Vulnerable time C) Fodad aTeH
D) Velocity time D) ERNECAKAE

53) Generally, in case of pure bending, the bending 53) 3T T 9 =X AT & forw, =T 7He g2 g T
moment is constant throughout and the shear force is ¥ graT g i< oft= et

A) maximum always A) ZHAT ATerFaw ZraT g

B) parabolic in shape B) ST § ILadATIF 2T g
C) zero always C) gHAT A graTe

D) having a unit value D) =T T THTS ATT AT 8
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54) As per IS:456-2000, the relationship between 54) IS:456-2000 % THTY, Fhic & HISIAHT 3F THT
modulus of rupture (f) and characteristic cube (f.) 3T ATHAATHF FIT FIEATHT T2 (fo) FT T

compressive strength of concrete (fc«) is given by
A) fer = 0.70 Vi

B) fcr = 036 '\/fck
C) for = 0.60 Vfuk
D) fcr = 054 ‘/fck

55) For a triangular section of a beam, the maximum
shear stress occurs at the

A) one-fourth height of the beam section
B) neutral axis of the beam section
C) mid height of the beam section

D) base of the beam section

56) If the working stress in bearing in power driven
rivets is 300 N/mm2and a double riveted double cover
butt joint is used to connect plates of 12" mm thick,

then the strength of rivet in-bearing is (Given: The
nominal diameter of rivet.= 22 mm)

A) 84.6 kN
B) 54.6 kN
C) 72.6 kN
D) 68.4 kN

e 5 & Toereh grar === oA Strar g2
A) for = 0.70 Vo
B) for = 0.36 vfux
C) fer = 0.60 Vfcx
D) fur = 0.54

55) ua 10 % Preprofrr Aoy, srfdrsraw sraeaor giaeer
(eftare =) =t BraT 87

A) FT TF F TF-AATS SATS I

B) #1¥ SFeT & vg A TiHd TT

C) =iw Teere ¥ 37ef FATE WX

D) =T &1 o T TT

56) =t faerq afxe & d=fora faew & gl & =
gtaae 300 N/mm2g 3T 12 mm HIET =il &l SEd %
forT e =9 aee Tad Fa¥ a¢ Sise Y AT 1Al &,
T fea i & R iy a1 (Bo) #9872

(FeT w5 T &1 Aifaee =418 = 22 mm)

A) 84.6 kN

B) 54.6 kN

C) 72.6 kN
D) 68.4 kN
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57) Turbidity is the measure of relative clarity of a 57) §=Tas foReft 5= (TTY) T ATUTErT TI9AT FT AT G,

liquid(water), and one of its units of measurementis

A) MPN
B) NTU
C) Moles
D) Grams

AT TH ATIATA TS H T TH ¢
A) MPN
B) NTU
C) Hret

D) I

58) The property by virtue of which a liquid opposes 58) @ I[0T FT FEATAT & oIk T o &9 3 fafae
relative motion between its different layers is known Tl & == HTUTEr T &7 FATE FLAT 8?2

as

A) Capillarity

B) Surface tension
C) Viscosity

D) Density

59) As per IS 456-2000, generally to test the specified

compressive strength of concrete the standard size of

the cube of concrete taken is approximately
A) 300 mm

B) 250 mm
C) 150 mm
D) 100 mm

A) Foafife
B) I8 a4
C) 9ATTaT

D) =rca

59) IS 456-2000  THTY, AMHATL UT Fshie it (Afa”
T AT9ed T T FA % o7 Fshie w1 B g
ATHTT T FF AT AT ST 82

A) 300 mm
B) 250 mm

C) 150 mm
D) 100 mm
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60) If a channel is protected on the bed and side with 60) == et 3=t =t a2 9= ¥ foreTe oe foReft srrme it
some kind of protecting material, the channel section TeToT TTaAT & T¥fera foFar 4T §, 7 =39 % TF il
CANNOT be scoured up and so there is no possibility TIETAG! ST HFAT & AT ZHINT HFIAT AT AL3d T |
of change of section or longitudinal slope, then the FIATS AT FTE HATAAT TN 21l €, T AT

channel is said to be in

A) Final Regime A) Tz fta § g e
B) Variable Regime B) arfvuae fsit & grar g
C) Unscoured Regime C) sehies fosfa # gran €
D) Permanent Regime D) TeaTe oo & grar 2

61) The true length of a line is known to be 300 m. 61) T AT HF ATETAF @aTs 300 M F &7 H JATT 1 T
When this line is again measured with a new 30 m =& TEH &I L ¥ UF 707 30 m &9 & HTAT JTqT 8, ar

tape, the length is found to be 300.90 m. The correct 4TS 300.90 m Tt ST 1 =7 Y T =TS FATZ?
length of the tape is

A) 28.90 m A) 28.90 m
B) 29.91 m B) 29.91 m
C) 30.19 m C) 30.19 m
D) 28.30 m D) 28.30 m

62) As part of Mode of Payment to the contractors, 62) SHaTZl il STTATA F4A o AL  UFH AN F &9 H,

the Form used for .advance payment without any & TH & forT g a7 & emqfa & forw, et o /1o
measurement, for works only and not for supply,is  foMT F RTaT % forg T ®iF FT arg?

A) Form 28 A) ®I 28

B) Form 26 white B) wIH 26 s@ze
C) Form 25 white C) wi¥ 25 zgTze
D) Form 27 white D) i 27 =gTze
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63) The deflection of a simply supported beam at 63) T 9% U fHF=it guree 7 F7 fFerar 1w T

supports is generally
A) twice of the slope
B) maximum

C) zero

D) half of slope

qT

A) AT T IREAET AT 8
B) sffarsaw grat g

C) 7 grar g

D) ¥ATT T ATLT AT &

64) Generally, the angle of inclination of lacing bar in 64) 3T 1< u¥, f&Ter a7 Tae AfET ey & e aw
single or double lacing systems, with the longitudinal T F&wTa T, foree-oq HFaC & AT i1 § =8 9

axis of the built-up member should be between
A) 90° to 120°

B) 40° to 70°

C)5°t09°

D) 10° to 20°

e = g =R ?
A) 90° & 1207

B) 40° & 70°

C) 52 & Q°

D) 10° % 20°

65) The component of an oil-based paint which is 65) TF da gt U= &1 Fed T U

used to adjust the viscosity of the paint and which  feraf=rrae Ft s ferd F F forg ITIRT T STarg
makes it possible to spread the paint evenly on the ¥ 3fiT ST Tdg 9 Ue &I THTT T & FATAT AT TATAT

surface is known as
A) Adulterant

B) Venhicle

C) Pigment

D) Drier

2, FT FEATAT 872
A) sETaTe

B) afgsar

C) faiiz

D)A

Page 19 of 31



www.ErForum.Net
51947_18

Page 20
BATCHO1_JUNIOR ENGINEER CIVIL_29JAN2019

66) The test conducted to find out the presence of 66) TIT & &¥9 |, UTHT | Fer=efer 9aTel T Iufearta

water-soluble matter in a sample of stone is
A) Crystallization Test

B) Acid Test

C) Smith's Test

D) Freezing and Thawing Test

67) Read the following statements and choose the
CORRECT answer.

(i) Application of vibrations is the most effective
method of compacting cohesionless soils.

(i) Ramming equipment used for the compaction of
soils can be of impact type, internal combustion type
or the pneumatic type.

A) (i) is FALSE and (i) is FALSE
B) (i) is FALSE and (ii) is TRUE
C) (i) is TRUE and (ii) is TRUE
D) (i) is TRUE and (ii) is FALSE

68) If the downhill end of the 30 mtape is held 80 cm

too low, then using the correctionfor slope what is the
value of the horizontal length?

A) 19.983 m
B) 49.983 m
C) 39.983 m
D) 29.983 m

T TG T & for TR ST e et or 19 |97 872
A) FFeetraTor ot

B) sT&eT Ureerr

C) f&aer &7 adreqor

D) sErfSiT i ortfar gdyeror

67) FMeferfad Fa=i & 92 8T Hel 302 94|

(i) FHT T STANT TEHAA-L (o (HST T T FHLA FT T
THTET THHT G

(if) THET ¥ Taradr = for S YT SUHeor, T T

T, ATATLF T TRIT T AT ATLATIAT THTL HT gl Fehal
2

A) (i) T 7 3 (i) TAT
B):(i) 1 & 7 (i) 72T &
C) (i) =& & 9 (ii) 7T &

D) (i) €1 & ¥ (ji) o7 &

68) Ifx 30 m =7 & =t ¥ &1 80 cm g T (Fgd FH)
T@T STAT g, a1 A (FA9) & o qeme (FFe) i
YT XA qT S TAS ASTS 7 HTH AT grar 8?2

A) 19.983 m

B) 49.983 m
C) 39.983 m
D) 29.983 m
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69) For a given soil sample, the calcium carbide 69) f&T w fAZT & d¥uar & forw, WA T FHfcerm

method is generally used to determine the

A) Silt Content

B) Moisture Content
C) Specific Gravity
D) Density

Frarze fater forae frerfeor s & fore e &t STl 82
A) e § AfEa gt

B) wHY T AT

C) fafere ==

D) =

70) The MKS unit of measurement for removal of 70) FFET W& & 4T AT AT FETHF o0 1T FT MKS

paint or varnish of a building is

A) numbers
B) cum
C)m

D)sgm

71) According to 1S:456-2000, the slenderness ratio

for a short column in both x and y directions should
be

A) less than 12

B) more than 24

C) equal to 18

D) between 19 and 24

72) Generally, CBR test is a penetration test meant
for the evaluation of subgrade strength of roads and
pavements. What is the full form of CBR?

A) Circumferential Ballasted Road
B) California Bearing Road
C) Circumferential Bearing Ratio

D) California Bearing Ratio

Page 21 of 31

THREIA AT FAATE?
A) numbers

B) cum

C)m

D) sgm

71) 1S:456-2000 F IqHTY, x 3T y AT faometi # e
FIAR F o0 TASTAT AT

A) 12 & F7 g

B) 24 ¥ stfers gTm

C) 18 & FTa< gIIT

D) 19 3f¥ 24 & &= grm

72) 9 T 9Y, CBR TETeT0T HE T 3 Fearii il aiis

HSTAT T oI Toh FE %0l T 99T TE1eAT 81 CBR T T
T FT87?

A) TEHRHEL AT SATEES TS

B) shfermrar a=far are

C) FTHH RIS ST T9AT
D) ferdrf=ar i vear
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73) Generally, the diameter of a rivet hole is made

larger than the nominal diameter of the rivet by

A) 2.5 mm, for rivets of nominal diameter exceeding
40 mm

B) 1.5 mm, for rivets of nominal diameter equal to 40
mm

C) 1.5 mm, for rivets of nominal diameter less than

25 mm

D) 2.5 mm, for rivets of nominal diameter exceeding

25 mm

74) The load at which a column bends from its initial

position and the deflection still remains is known as
A) Permissible load

B) Yield load

C) Safe load

D) Buckling load

75) Read the following statements and choose the
CORRECT answer.

() The unconfined compression test is widely used for
determining the consistency of saturated clays and
other cohesive sails.

(i) Unconfined compressive strength is thrice the
value of the shear strength of a clay soil under drained
conditions.

A) (i) is TRUE and (ii) is FALSE

B) (i) is FALSE and (i) is FALSE

C) (i) is FALSE and (ii) is TRUE

D) (i) is TRUE and (ii) is TRUE

73) s A wR, fEe B ¥ =ma & ae & Fifaae =
T AT T=T F9TAT ST 272

A) 40 mm & sfers Fifaae =2 fEe F forw 2.5 mm
B) 40 mm % SXTE< ATHAS oATH % ¥ae & o 1.5 mm
C) 25 mm | &/ T TH"e AT & fae F forw 1.5 mm

D) 25 mm & rferes A8 =28 % Ree F forw 2.5 mm

74) aE T IS8 T i ot ST ioe fRurfa & o Strar
g S fererooy fPre w2ar 8 SO #4T Tl A1ar 82

A) At Ee e

B) Hiee e

C) & e

D) sfaerT e

75) Feferfad wai & 0 3T Jat 392 I+ |

i) STFRTHRTS e FEIY T ATTH € § TqLee (ol
THET o7 o7 sah (HEt it stgerar Meiia wed & o
T FoR T STt 2

iy Tt afefRafaat & oefim st FEiEE 2y
ot frgt i sraaor JTaed (foee &o) & 919 &1 i
AT ETAT 2

A) (i) FET g I (ii) T &
B) (i) T&Ia g 3T (i) 17T §
C) (i) T & A (i) 7L &
D) (i) €1 & ST (ji) #ET €
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76) If fx is the characteristic cube compressive 76) Tfs N/mm2 ¥ sshie Y stfrererfores == adigT arg=t

strength of concrete in N/mm2, then the modulus of fo g, AT IS: 456-2000 F ATHT Fshie FT TATEIAT I[0TF
elasticity of concrete as per IS: 456-2000 is assumed FIT HTAT STAT &2

as.:

A) 5000 \/f.p A) 5000 \/f.,

B) 3000 /.. B) 3000 /f.,
v Jek v ek

C) 1250 \/f., C)1250 \/f.;,

D) 2000 /T, D) 2000 /£,

77) For the waste water treatment, generally the 77) 37aforg Sief Iu=me # forw, Haw AT2 § T i3 o
grease and oil can be removed from the Wger AT AT MH & & foreen ey 9 T 9«1 &1 o

sewage, before entering into the sewer line by AT & T AT ST ThaT 872
A) Skimming tank A) FFEfEw s

B) Primary sedimentation tank B) STeHLT A 1HveorT &

C) Grit chamber C) e v

D) Detritus tank D) 22TEeHq &

78) The most common cause of acidity in wateris ~ 78) SToT # ST&TdT T Fa& HTHTT HTLIT
A) Nitrogen INGIEEE

B) Sodium hydroxide B) Ifeaw gregiFamzs g
C) Carbon dioxide

C) FTad STEAFATEE &
D) Calcium D) sfeaam g
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79) When an object is viewed from different directions
and at different distances, the appearance of the
object will be different. Such a view where the object
is viewed from a single point and where projectors are

NOT parallel is generally known as
A) Perfect view

B) Orthographic view

C) Isometric view

D) Perspective view

80) Generally, a circle will appear on an isometric
drawing as a/an

A) Cycloid
B) Parabola
C) Circle
D) Ellipse

81) The attendance of the labourers in a construction

79) St TorefY g a7 farferer fRermsit & o< sremr-srenr g4
U T@T SATAT &, T AE] 1 (a@Tae A7 gt | UHT UF 39
STET ARG AT UF A A = A g 7 et e
HATATAL AR 2ld &, AT I ZH 36 ATH & ST ST
z?

A) THFE T

SERIPUEEIY

C) ATEHMEF

D) w3

80) SMHAIY IX UH SMHETEH TIET T TH I
i feng 5.8 fore =0 § famams e

A) S

B) TeHe

C) 37

D) =& g

81) foret w2t 9= g it safeerfa &t A i

site is keptin a document called Muster Roll, which is  ATH= a&=dqTas | T@T STaT &, RO o a1 92 Irfdrsd Usie
noted or recorded in which of the following Forms St T e e g Refetad 8 | w19 ¥ e §
usually by the authorized agent as work supervisor? SIERIEEAERIEICIE e

A) Form 8

B) Form 16
C) Form 5A
D) Form 21

A) i 8
B) w1 16
C) wiH 5A
D) i 21
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82) In the analysis of the flow velocity of a fluid for a 82) T 5 % waTg aw % fagwor #, afs au7 it vF
fixed instant of time, a space curve is drawn so that it =2 smEfar = foro, v =09 9 =87 Y &= Jar g
is tangent everywhere to the velocity vector, then this T g Tt TITH 9% 33T AFeL (FATTHET aFX) FT 90T

curve is usually known as B, 1 TH a5k [ SATHA I I FIT Fgl SATav 52
A) Instantaneous Curve A) AT o T

B) Momentum Curve B) Ha T a%®

C) Potential Line C) Treferae area

D) Streamline D) &HdTEA

83) Generally, the product of hydration of cement 83) 3ITH TTT UL, UTHT o AT HTHE F ATIhT F gr3geM &l

compounds with water, which is a quasi-amorphous ITITE, ST U Fef- THIHH TaT g 3T FST HH e T A
material and also the principal binder of the hardened &4 &, 1 278 & FIT Fgl ATAT&?
cementis referred to as

A) C-M-S gel A) C-M-S gel
B) O-C-S gel B) O-C-S gel
C) S-C-M gel C) S-C-M gel
D) C-S-H gel D) C-S-H gel

84) The units of payments:and measurements of 84) MKS urTeit & e Torswra it fafo=r wai & sprar e
various items of constructionwork in MKS systemare #TT #¥ TaT=aT, Fwg 9aTal 9 37faeh * arg o7 T
same with few exceptions like earthwork. So, | =TT, =TT 98T & pfas o+ HieT® AT AT §
Earthwork in irrigation. canal is measured in cubic =T sTaT foFaH foRaT STTaT 872

meter but paymentis made:

A) per running meter A) gt T #iex
B) per 100 cum B) wfa 100 cu m
C) per 10 cum C)9f@ 10 cum
D) per meter depth D) wfa HrexTgers
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85) IS 456:2000 recommends that minimum grade of 85) IS 456:2000 SET FdT § o Yafera #whie H &

concrete in reinforced concrete work shall NOT be #ie &1 +IAdH U< TAH & FohaH 7 A5l gRIT?
less than

A) M 10 A) M 10
B) M 20 B) M 20
C)M 25 C)M25
D) M 15 D) M 15

86) The canal which is aligned along any ridge line is 86) =g wig< o fareft ot fisr stz & @y s fran

generally known as STAT g, SH ATHATL I o6 ®F | STAT AT 52
A) Levelled Canal A) TaeE T2

B) Contour Canal B) X 8L

C) Watershed Canal C) ATeT9AE 787

D) Side Slope Canal D) HTSS TATT 78X

87) The distance between two points measuredusing 87) 20 m 39 & IUIRT ¥ a1 fagafi & fi= Fi 7rft 1€
20 m chain was recorded as 327 m. It was found that Ft 327 m srfsrferfer it 71 =g 97 7147 7 =7 3 cm
the chain is 3 cm too long. The true length of the line =& Tt (T AIRT) T AT T ATEA (A AaTS (T ) =T

is grft?

A) 326.55 m A) 326.55 m
B) 327.49 m B) 327.49 m
C) 327.55 m C) 327.55 m
D) 326.49 m D) 326.49 m
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88) A soil sample has a porosity of 40%. The void 88) THZr & U# d¥uw &t 40% w¥ear g1 g &

ratio of the soil will be
A) 0.66
B) 0.33
C) 0.40
D) 0.83

T2 9T FT ZRMT?
A) 0.66
B) 0.33
C) 0.40
D) 0.83

89) In orthographic projection, the view showing the 89) TR TS §, WA o FATL AT HI AT

floor plan of a building is a
A) Left-side view

B) Sectional view

C) Front view

D) Top view

90) Which of the following

of endogenous tree?
A) Bamboo

B) Teak

C) Deodar

D) Sal

is an example

arar = Mwferied § TR arg?
A) TF-HTEE o

B) &= =7

C) %z =]

D) ziw=q

90) fRerferfaT & & #i= A7 iad (Tre i =) I FTUH
I g2

A) TiE

B) &%

C) ¥

D) |Te1

91) Generally for mixed traffic, from practical 91) sTadX 9 Ff¥a FmamTa & oo, awa & IRC
considerations as per IRC guidelines in India, the fRemfa=el & AT ATAGIE (Ga=1 &, AU
superelevation is calculated for (Here friction is =t rorHT fofherer form it SITeft 872 (Frgt = 3ufera )

neglected)

A) 20% of the design speed
B) 75% of the design speed
C) 25% of the design speed
D) 15% of the design speed

A) e wfie % 20% * forw
B) ez &fiT & 75% * forw
C) ez T & 25%  forw
D) fe=rew =fre  15% * forw
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92) For a particular steel section, which of the 92) ¥= % faeft @t @e * forw, RefoRa d o w ar
following options represents a ratio of the plastic faed wTfRe® HHe si¥ Fee WHz F AUTT HT F9qTAT

moment and the yield moment?

A) Load factor

B) Shape factor
C) Flexural rigidity
D) Yield stress

22

A) &S FFaT

B) o7 e

C) e fefor=eT
D) fes =H

93) In limit state design method as per IS: 456, the 93) IS: 456 F o foifHz ¥ fRwresa gz fa #, f, = 500
limiting value of depth of N.A (neutral axis) for fy =500 N/mmz2 3= & €1 & o0 NLA (FIga Tieas) &t T840

N/mm?2 grade of steel, shall be
(Symbols and notations carry their usual meaning)
A) 0.48

B) 0.46
C) 0.43
D) 0.49

T HTTT AT FIT Z2

(STt i Foha o199 |THT 37 § fw e §)
A) 0.48

B) 0.46

C) 0.43

D) 0.49

94) In a straight reach of channel section, maximum 94) = HFIT T HTefT Tg= |, ATHAH a7 ATHATL T
velocity usually occurs below. the free surface at a T @ag 1= foha1 TS I AT 5?2

depth of

A) 0.05 to 0.15 of the total depth of flow
B) 0.75 to 0.85 of the total depth of flow
C) 0.25 to 0.50 of the total depth of flow
D) 0.50 to 0.75 of the total depth of flow

A) waTg FT T TgTe F10.05 §0.15 5
B) waTg #if T TgxTs &1 0.75 & 0.85 T
C) YaTg &l F1 TgTs &1 0.25 § 0.50 TF
D) YaTg il T TgxTs &1 0.50 § 0.75 TF
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95) In the geometric design of highways, a type of 95) TSHTI & SATAAT fRme ®, wifvasa o4

vertical curve used to connect two gradients forming (ST a%) 9T ATA AT ATSUSH FHI SIS oI T Fh0

a convex curve is known as STH Tl T W o SHEaTel< a9 ol [ohd & | ST Srar

g?
A) Sag curve A) FTFT
B) Summit curve B) @itz d
C) Hyperbolic curve C) greu¥aliers &
D) Straight curve D) &= F4

96) Reusable wastewater from residential, 96) JTaTE, ATV AT H=TF aTI&EH T &, |
commercial and industrial bathroom sinks, bath tub & 9rfa< FT ATRMET, 3T FAL & F ITFHLIT T ATA T

shower drains, and clothes washing equipment o= AT I ST AT S, FoF TTH AT SATAT 72
drains, is known as

A) Blue water

A) 5 aTeT
B) Black water B) seish aTe<
C) Brown water C) 13T d12¥
D) Grey water D) & aTex

97) The depth of water required to bring the soil 97) ¥ = T H THT 6T ATATHI ITF hiee AT AH AT

moisture content of a given soil up to its field capacity = forT o1 Y stra9Te TS FAT FEATAT 82
is known as

A) Consumptive use efficiency A) SIEFRTE YT 2877
B) Equivalent moisture B) Twqed AHT
C) Soil moisture deficiency C) Tize gizgea< SThforuet

D) Hygroscopic water

D) STEUT&=hITUa aTe<

Page 29 of 31



www.ErForum.Net
51947_18

Page 30

BATCHO1_JUNIOR ENGINEER CIVIL_29JAN2019

98) For design purposes, the sill level of a canal head 98) fRSIT=T 32T |, FATA 82 W & & &< H
regulator is generally kept higher by a minimum of =T & fFa® SMATL W FT A FH 19 1.2 m T FUL T@T

about 1 to 1.2 m, above the
A) crestlevel of under-sluices
B) breast wall

C) bed level of barrage

D) crestlevel of barrage bays

99) Which of the following market forms of timber is

in round or rectangular form having diameter or side

usually less than 300 mm, and used as a

compressionmemberin buildings in vertical position?
A) Baulk

B) Batten
C) Log
D) Post

100) The Nagpur Road Plan whichiis the First20-year
Road Development Plan assumes which of the
following patterns of the road network?

A) Star and Block Pattern

B) Radial and Circular Pattern
C) Rectangular Pattern

D) Star and Grid Pattern

STaT 8?2

A) 3E7- Tea & fd we
B) S aTd |
C)aiaF e v ¥

D) afer & @it & T s &

99) FTAH HISE Aha! T, FAfcrad § T FI 4
TATHRTT AT ATAATHI TR g Ot 21 a7 FFe
AT T2 300 mm & FF rd g, T qa91 § Iearw
Rt & it arag & &9 § w3 0 ST 82

A) S

B) e

C) @T
D) dree

100) TTTIX HEF A1 S qgett 20 a7 g2+ fam
ST 8, ¥ TS deah & (AATerad § & T T e &

HATAT 72

A) =TT UE 51 Jeot

B) ¥fewer i g Ted
C) YFE[AX U
D) =R UT [ e
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